Trig 9.1 by M caw
Graph polar coordinates
Graph polar equations

Determine distance between 2
polar coordinates ==l i\

ordered pair ( - 5 97
Cartesian coordinates (\{ v )
polar coordinate system ( r '-9.)
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Floor graphs
1. rotate CCW
2. step (forward)



But what if the angle i negative?

Floor graphs
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What if the distance is negative?
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Name the point 4 ways:
Floor graphs

Polar Axis
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o Name four different pairs of polar coordinates that represent point S on the

graph with the restriction that —360° = @ = 360°.
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Q.I 17— Al 048

Dist,anc_'e if P,(ry, 64) and P;(rs, 65) are two points in the polar plane, then
Formula in - -
Polar Plane t) % PPy = Vr2 + rp? — 2ryry cos (05 — 6,).
otk = Not sure this formula is worthy: comes
0“eb rU - 2he tos A from law of cosines
Find the distance between the points with the given polar coordinates. Why x.-x,?

42. P,(4, 170°) and P,(6, 105°)
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